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QUESTION 1

In which segment of database shared memory are bufferpools created by default?
A. Resident portion

B. Flash portion

C. Extended portion

D. Volatile portion

Correct Answer: A

QUESTION 2

Which Informix edition, at a minimum, would permit a Global company to deploy multiple database backup sites for
protection against man-made or natural disasters? They want to include oneshared disk secondary, as well as one
Remote Secondary Server in their plan.

A. Informix Ultimate-C Edition

B. Informix Growth Edition

C. Informix Ultimate Edition

D. Informix Innovator-C Edition

Correct Answer: B

QUESTION 3

Which of the following configurations would suggest that an Informix server is tuned for a DSS workload?
A. PDQPRIORITY is set to the value "HIGH".

B. There are more transactions than queries.

C. Database or table logging is turned on.

D. A task is configured to capture Checkpoint data every two hours.

Correct Answer: A

QUESTION 4
Why does a database execute a checkpoint operation?

A. To ensure that runaway queries are stopped before consuming all the system resources.
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B. To synchronize the pages in a primary dbspace with a mirrored dbspace.
C. To update statistics for large tables currently being accessed by queries.
D. To synchronize the pages on disk with the pages in the shared-memory buffers.

Correct Answer: D

QUESTION 5

Which of the following administrative processes can Informix handle automatically?
A. Online Archival

B. Storage Provisioning

C. Database schema optimization

D. Datare-distribution

Correct Answer: B
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